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(hprerecenje u opteredenim poljima
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Greda preko n polja (nastavak)
My=Mg
= ML = My 0042 pit -0.063 P -0 A -0.052 Ki 0052 Ki 0051 Ki
T AK TLma N Mpolja k
= Mpolja m 0083 pit 0.188 P 0222 PI 0115 K 0112 K 0.107 Kt
Reakcijaosionaca 0,500 pl 0.500 P 1000 P 0.500 K 0500 K 0500 K
My, 0114 pi? 0171 P 0304 PI 0142 K! -1141 Ki -0.137 KI
TR T my AN Mg = My 0022 pi? 0034 Pl 0600 PI 0028 K! 0028 Ki 0027 Ki
? Reakcija oslonaca L 1184 pl 1274 P 2488 P 1229 Kk 1227 K 1221 &
Mg = Mg 0054 pi? 0079 PI 0.141 P 0065 Kt 0066 Ki D064 K
TR A Mool l 0071 pi2 01T P 0192 A 0.101 K 0.098 K 0093 ki
My= My 0014 pit 0021 Pi 0037 Pl 0.017 Ki 0.017 ki 0017 Ki



